







Y:\Budget\5yr. Plan\Estimates\Paving\Mariners Trail-Rerouting at Yacht Club 7/17/2017 By: G.J.M.

ESTIMATE

FOR

MARINERS TRAIL - REROUTING AROUND YACHT CLUB (845 FT.)

***************************************	******

ITEM	ITEM		BID	UNIT		
NO.	DESCRIPTION	UNITS	QUANTITY	PRICE	TOTAL	
MARINERS TRAIL - Re-Routing Around the Yacht Club (845 ft.) 65 Ft. connecting links on both ends.						
	-					
1.	MOBILIZATION	LS	1	\$7,500.00	\$7 , 500.00	
2.	TRAFFIC CONTROL	LS	1	\$2,500.00	\$2,500.00	
3.	UNCLASSIFIED EXCAVATION	CY	375	\$35.00	\$13,125.00	
4.	8" CR. AGGR. BASE COURSE	SY	1,125	\$10.00	\$11,250.00	
5.	3" HMA (MARINERS TRAIL)	TON	200	\$115.00	\$23,000.00	
6.	12" CMP CULVERT	LF	40	\$50.00	\$2,000.00	
7.	BORROW MATERIAL	CY	100	\$20.00	\$2,000.00	
8.	TOPSOIL & SEED	SY	1,000	\$15.00	\$15,000.00	
9.	EROSION MAT	SY	1,000	\$3.00	\$3,000.00	
TOTAL FOR CONTRACT				\$79,375.00		

15% Engineering & Contingencies \$91,281.25

USE \$100,000

